Chapter 10 Lesson 3

Surface Area of Rectangular Prisms

Surface Area: sum of the areas of all the surfaces (faces) of a three-

dimensional figure.

Words The surface area S.A. ofa -

Model -
rectangular prism with length £, h L _____,“
width w, and height h Is the sum w \ "
of the areas of the faces. * {
Symbols SA = 2fh + 2¢w + 2hw
The surface area of a prism is the sum of the areas of its faces.
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@ Identify Repeated Reasoning Chrissy is making a bird
nesting box for her backyard.

a. What is the surface area of the nesting box, including

theholez 1.5 iNn%

Din,

b. What is the surface area if the width of 7.5 inches is doubled?

o mila

75 in.

¢. What is the surface area if the width of 7.5 inches is half as great?

70 1.15n?

SHOW WORK BELOW
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